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. . an : Milk and water
Cain question -132 60 lit water added

Milk and water -60 litre
And last one question answer may be 155

o &H REPLY
- View reply from Mahendras

fy GF  REPLY

Ajaya kumar 2 ¢

132

oy GH

Pradipta lcarus 2 days ago

50 paise 132
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Milk and Water Question...
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Answer - 132




RULE : Formula method
BREEESERCIE) (ab)2 =a2 / 2ab / b?
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122= 144
132= 169
142=196

15%=225
162=256
172=289
18%2= 1324
19%2= 361
202=400

212= 441
222= 484
232= 529
242= 576

252=625
26%=676
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RULE :- If unit placeis ‘5’
aH - i ShTg BT 3b ‘5’




Same number

25
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SQUARE ROOT OF PERFECT SQUARES
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Rule: The digits 2,3.7 & 8 can never occupy the
unit place of a perfect square.
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If the last digit of any numberis 2, 3, 7, 8 then the number will not be
the perfect square.

afe Tl F&dT &7 HfAH 3 2, 3, 7, 8 & of 9 |&A1 Ul
qar sTer gl

The number will be a perfect square if the digital sum of the number s
1,4,7,9.

lawaaﬁuaﬁ1 4,7,9 ¢ dl 9g §&I1 qUT 9

If a number is perfect square then the last two digits of that number
will be same as the square of the last two digit between 1 to 25.
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